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n = 100; t1 = 1; t2=1     n = 100; t1 = 1; t2 = 100 

   
 
If one material is much thicker than the other, the effective modulus will converge on an 
effective modulus much faster than if the thicknesses are similar. The effective modulus will 
also settle at a value closer to the modulus of the thicker material, depending on the ratio 
between the two thicknesses. 
 
 
 
 
 



n = 10; t1 = 1; t2=1     n = 1000; t1 = 1; t2=1 

   
 
As n increases, the effective modulus begins to converge on a value, while at lower n, it will 
vary slightly from layer to layer. 
 
The above two cases were done with E1 = 6 and E2 = 7 GPa. 
 
n = 100; E1 = 4; E2 = 3; t1 = t2 = 1               n = 100; E1 = 4; E2 = 16; t1 = t2 = 1 

   
 
As the ratio between the two individual modulus values increases, the effective modulus will 
vary more from layer to layer, so the amplitude of the oscillations is larger on the graph. 
 


